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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

Q.1 (a) State whether following statements are true or false.

1. A program can not have more than one logical path.

2. Precedence of + and — is higher than that of * and /.

3. C support only call by value and not call by reference.

4. Union variable occupies memory equal to sizeof its largest
member.
Keywords are reserve words and cannot be used as identifiers.
6. There are eight basic data types in C language.
7. Inplace of if...else statement, we can use Ternary operator.

e

(b)  List the major advantages of higher level language programming
(c)  Write a program to read an integer from key board and print whether
given number is odd or even.
Q.2 (a)  List the characteristics of higher-level language programming and
explain any four in brief.
(b)  What is Operator ? List arithmetic, relational and logical operators.

OR
(b) How many keywords are there in C ? Explain any six keywords.
Q.3 (a)  Write syntax, draw flow chart of while and for loops with example
(b)  Give output of the following printf().
(1) printf(“%d %s %f “,765.3, “prac”,79);
(i1) printf(“%f *, 543.45678968);

(c) Explain why C is known as middle level language.
OR

Q.3 (@) What is algorithm ? What is flowchart ? Explain both in detail.
(b)  Give output of the following printf().
(1) printf(*“%c %d”,97, 97);
(i1) printf(“%6.2f %.0f ”,123.6789, 71.89);
(c)  Write format of switch statement and explain it using suitable
example.
Q4 (a) What is command line argument? Write a program to display sum
of two integers given as command line arguments.

(b)  Explain different file opening modes in brief.
(c) Specify errors if any, in the following statements
(1) fLoat x;
(11) int min, max = 20;
(ii1))  long char c;
OR
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What is nesting of structure? Explain nesting of structure with
suitable example.
What is symbolic constant? Write a program that defines a symbol
PIE and finds the area of a circle. ( Circle area = 3.14 x Radius?)
Specify errors if any, in the following statements
(1) iNt a;
(i) FLOAT f{=2;
(ii1)) double m;n;
Explain flow-breaking statements break and continue with suitable
examples.
Write a program using for loop to print following triangle
1
12
123
1234
Write a program to convert the given temperature in Fahrenheit to
Celsius. Use Equation C=(5/9) x (F-32)
OR
List any four-file management functions. Write a program to copy
one file to another file.
Write a program to add two 3 X 3 matrices
Write a program to read a string from keyboard and print the length
of the string using user-defined function.
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(1) printf(*“%d %s %f “,765.3, “prac”,79);
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